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SN SAMY
A JIRGID HME =2 e
Sel: X202 Y3 2 XSS SEEH) (232
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
A2 M} 1,545,219 1,544,071 1,148
RGN QHAE H=g 2el 1,545,219 1,544,071 1,148
XstEol2eeda 2RH(XNat=22SE3 ) 1,545,219 1,544,071 1,148
Xat0 282 2 - 29 135,992 137,399 A 1,407
201 YEre gy 22,905 24,092 A1,187
01 AtR 22| H| 19,692 20,710 21,018
OXdts EX=L =RHAH(EZ)
A 15,412,000 15,412 16,200 A788
OdloIMERH EY R (EY)
23 1,210,000 1,210 1,440 A 230
02 B229H| 3,213 3,382 A 169
OXdt0l28242 DM L2522 (HY) 1,965 2,134 A 169
— ot ZA 1,775,000 1,775 1,944 A 169
202 04l 2,040 2,160 A120
01 20l 2,040 2,160 A 120
OXISHE: AEHZAF & SZ2AAF GIHI(ERZ)
ZA 2,040,000 2,040 2,160 A 120
203 YR EXH| 900 1,000 A 100
03 Al ET Y RE Y| 900 1,000 A 100
OXIStERe| A=A EZH(BY)
23X 900,000 900 1,000 A 100
oyl gl 1,409,227 1,406,672 2,555
801 ol HIHI 1,409,227 1,406,672 2,555
01 2 B8Hofl Hi bl 1,409,227 1,406,672 2,555

Ooilbl bl 2 & 1,409,227,000& 1,409,227 1,406,672 2,555




